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PART-I
CHILD DEVELOPMENT AND PEDAGOGY

BOOKLET

B/

Aptitude could be defined as an
(1) innate ability to develop

something novel

3.  Gestalt learning occurs through .....
(1) intuition
(2) imitation

(2) innate ability to acquire

proficiency in any special field

| (3) perceptual organization
(4) expectancy

(3) innate ability to adjust with the
environment

(4) innate ability to carry out
abstract thinking
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A conflict occurs when one ....

(1) is passive to emotions

(2) cannot reconcile with his goalsl

(3) is incompetent to do one's task

(4) feels insecure in one's life
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Observational learning by Bandura

emphasizes _

(1) the transmission of social
expectations

(2) the change in behavior due to
conditioning

(3) punishments and rewards

4.

(4) the process of imitation and
modelling
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One of the following is not the
function of motivation.
(1) It directs the behavior.
(2) It sustains the behavior.
(8) It energizes the organism.
| (4) It increases reasoning. |
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6. A student who has trouble
remembering the location of the
African countries, Ghana and
Guinea, after learning about the
South American country of Guyana
has fallen prey to the following
type of inhibition.

(1) Discrimination
(2) Interference
| (3) Retroactive |

(4) Proactive

B3> 0y T’ KAuraPas K0od
esﬁs?;o&b BTG es(pES 3‘«5“?_525 “ho
%0000 DAY SETe 106 DexEassd*
0058 ITQ T O W'y
NI=C SRt o)
(1) Do

(2) %0

(4) ©rass

7. Readiness of the learner, the
attitude and behavior of the teacher
and moral of the class represents
one of the following elements of
pedagogy.

(1) The learning performance

(2) Evaluation of learning

(3) The learning process

(4) The learning situation
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An individual with a learning
disability is likely to .....
(1) be environmentally
disadvantaged
(2) have motor impairments
(3) be mentally retarded
| (4) have language diiﬁcultiesl
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Students can improve their

comprehension of written material

if they use a strategy called SQ4R

whichis ....

(1) study, query, read, review, revise
and recite

(2) survey, question, read, reflect,
recite and review '

(3) study, question, read, revision,
review and recite

(4) survey, query, read, review,
recite and revision
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10. The student is misbehaving to seek

11.

W-61/TET-311-EM/TM

a teacher’s attention. The teacher
should not

(1) send the student from the
classroom

- (2) use teaching methods that

provide an appropriate level of
instruction

(3) attend to the student

(4) ignore misbehavior, praise good
behavior
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This type of teacher loves and cares

for her students and at the same

time disciplines them.

(1) Democratic |

(2) Negligent
(3) Authoritarian-
(4) Permissive
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The major shift proposed by
NCF-2005 is

(1) learning in the wider social
context

(2) learning through books

(3) learning in the class

(4) learning  with
monitoring
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Sigso, 2005
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Child centered pedagogy means ....

(I) plans for the psychological
development of children

(2) makes children answer a
teacher’s questipns

(3) gives no scope for a child’s
experiences

(4) makes children reproduce
textual knowledge
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The law that can be applled to the
proverb, "Nothing succeeds like
success” is the
(1) lawofuse .
(2) law of disuse
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15. One of the following is not a principle

of development.

(1) A reversible process

(2) A predictable process
(3) A dynamic process

(4) A continuous process
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16. One of the following is an example

of fine motor skills.

(1) Palm grasping

(2) Sitting
(3) Crawling
(4) Walking
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the box is the Correct Answer

BOOKLET @

17. Rapid growth and development is
observed in the developmental stage
of ...

(1) late childhood
(2) young adulthood

(3) infancy

(4) early childhood
T4 DR H36° IS, DI Do
SOt 1550
(W) egoerag -
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(3) Baess
@) reserogs
18. One of the following does not belong

to the processes of adaptation given
by Piaget..

| (1) Sensation

(2) Equilibration

(3) Assimilation

(4) Accommodation
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One of the following is not a

characteristic feature of personality.

(1) Itis stable.

(2) It includes cognitive and
affective components.
(3) Itis unique and specific.

(4) It is coherent and continuous.
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One of the following methods helps
to study children with special needs.

(1) Case study method

(2) Introspection method
(3) Interview method

(4) Experimental method
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21. The term, "developmental tasks" is

given by ...

(1) Kohlberg

(2) Vygotsky

(3) Piaget

(4) Havighurst
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22. The domain which is concerned with

the learning of emotional

~ expression and management of

feelings is the ...... ‘
(1) cognitive domain

(2) psychomotor domain

(3) affective domain

(4) semantic domain
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23. A student begins to fear public

speaking after being ridiculed by
her classmates during a recitation
exercise. In classical conditioning

terms, her newly acquired 'fear’

BOOKLET @

25. Aggressiveness, destructiveness,

disobedience, noncooperation, etc.,
are characteristicsofa .....
(1) conceptual disorder

(2) neurological disorder

would be due toa/an .....

| (3) behavioral disorder
(1) unconditioned stimulus

(4) physiclogical disorder

(2) unconditioned response

~ (8) conditioned stimulus Shsion, oS Daliooes, DB, S50
| (4) conditioned response | «ones mm 89 egrren
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(1) dooRe&bsd not expected of a good teacher.
(2) 8RB STHEES (1) Sharing warmth, enthusiasm
(3) Deohid &R and caring
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24. "Mind has a quality to organize

(2) Communicating freely with
students

(3) Using the usual method of
instruction for all students

things". This basic thought is
related to ...

(1) connectivism (4) Acquiring knowledge about the

(2) behaviorism student as background

(3) classical conditioning .
(4) constructivism ged i 3
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27. The following kind of evaluation is | 29, The main characteristic feature of

given during instruction.
| (1) Formative evaluation.l
(2) Summative evaluation.
(3) Continuous comprehensive
cvaluation.
(4) Criterion referenced evaluation
300 TR’ 5% Thisiytts 120D reeRd
SoEsas
[ (1) Doy saroomse 4
(2) o SoreroRmeD
(3) DT S PO
(4) BErerBY oS

28. According to the "Right to
Education Act, 2009", which of the

following is not correct?
(1) Child shall be admitted to the
appropriate age class
(2) Child shall be required to pass
the board examinations before
the completion of elementary
education
(3) Right of all children (6-14 years)
to free and compulsory
education
(4) No child shall be denied
admission for lack of birth and
transfer certificate
3o 6 DoegrEy, LgBw-2009
ST 50T
(1) Bemrdd A S B BNt
e ¥Dvoow ¢
(2) dBRoed D 370 ok B0
Somrs S 8858 S5 wmd
(3) wroecctstd (6-14 Zﬁou) SB, JeH
DR,
(4) © Bemrdd e sgo, wod SEoBisd
s’ sSamams JoPE00RENEED

W-61/TET-311-EM/TM (8]

an adolescent's social development
is ...

(1) guilt

(2) abstract thinking

(3) puberty
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ofeasoo
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4) 100,

Kohlberg believes that ....

(1) moral judgment is not
dependent on environmental
input ’

(2) the final level of moral
judgment reached depends on
the socio-economic status

(3) levels of moral judgment unfold
in a random order

(4) the movement from one level of
moral judgment to another is
dependent on advances in

cognitive maturity

hmbeof 820 oot _

(1) PO Juowo BOSTe  STHEXD
LRGN

(2) wodin PBY W Jaxd Wwo
bvo:mg-ugéfgm&wmc;;&m

(3) POF DPo¥ Fosows wWrE o
e

(4) wg@gagma;mm&ma;u&
SrOwe  DTEE D050 P
RS0 ¢



newuser

newuser

newuser

newuser
sakshieducation.

newuser
sakshieducation.

newuser
www. comwww.

newuser

newuser


www.sakshieducation.com
Paper Il Social Studies
Note: Highlighted Option in the box is the Correct Answer

PART-11 .
LANGUAGE I - TELUGU BOOKLET @

31-35 3eb hmgey wow 31 006 35 WU (et Sargrres edoled.,

31.

32.

wissone wifissoe el Sous 5o K6 BIERS G, e Sdrols wisnoued®
6008 Py, om SHER3 Sod, 5w SNl ww, ¢olRSt Uiy 30 3P Goll 30 TReTNEO,
Semora0, 30 w0 5 KUy Jyoves.

eoetstir HIEREL SOBROBN. T oIS’ BRI G BEOTF? WA Gl BT GiSoB
S 3o, 9o OF Sarod Bt el et PEX L AT 5002000
ety (T 90 iyl e0torPenS ' dinined it weod Erted'S dowcd.

W wotiP? &y Bor B, Eercil, edPobid. WO 5l SRR TR BO 430
@ (SR Toll BYSe. 308 EiSouiooTe el etolcss KAl e53,5,00 w55tk
SRR Bintold THENINR, 50 Jepdd Jeo Sokb e JeB RinTE B eio T, Ll
EOBOBD 2 reverrsenerses Ao, B0 MDD Doo ol B, 30 B Pty oL,
S SteRr DEN T Bolben IHReul KWiiisy, 38 ¥ TR eolisg, BN K Bowp &)
e _

T8 K9 BOT, HREBNEE. B30, e tion. AGeore di M6 Hties ippet Ko,
30 % efvod® and doood. JER3 Wsdals eTte DErwsaR Gowsed. woiii Ttes
QT BARTPIC0E st 6o 207 WgePo 8 e wol ArIrrd” ed.

B el IS a Ee [ 84, e R8T Raiom RN TN
(1) S -~ - .
(1) Sinato
(3) gl : @ &8
(4) >0 _ @) !‘-\fo.-?"g
B4 118506 Botss grdS° st wmes ,
(1) dpsers (4) estios
(2) f:le:tcc‘cﬁ: 85,  aosihs By -
. 0 et KOAGD
N
(4) e ol (1) Steore éiy 938 58w
T 0% e grd St istuass e (2) dgporr ¢y A oo
(3) §éfccm%5a35‘ﬁ:cﬁw
(2) Polrese — e
4) 3G, = :)N ::}QOJ u/
(3) Saroe (4) Sgoom dip 56

@) s’

W-61/TET-311-EM/TM 91 P.T.O.


newuser
www.sakshieducation.comwww.

newuser

newuser
www. comwww.

newuser

newuser
www. comwww.


www.sakshieducation.com
Paper Il Social Studies
Note: Highlighted Option in the box is the Correct Answer

BOOKLET @

36 12008 40 WD FHow 38 $rrgd,) WA SLrgTEres ieted.
5258 QasTy® GO FCFERBIIIT W
TR Ky TREHA0 SRS Brsens £
QU 1500 DO B0 PATY IHT

-mm Srd Qs> Nt BRsTRE s $I°033.

36, &+550 5DSED 39, Ol PE ety PBAIPS o
i Q) aoéam/
(2) Dexais TS TRoed
: (2) o5,
(3) Tsours ok
(4) ss30om0 Sotis Bgsmaosss” (3) Dot a0
37, STy Troes T Said (4) eototirge
(1) S :
(2) o
(4) oIS _ (2) amware
88. THOTY CPODL esg ReHORD (3) wdeio *
(1) dIpos
(4) oo
(2) &80
(3) shdbo DB T
(4) c’i‘v?_m?a:smﬁ—/

W-61/TET-311-EM/TM [10]



newuser

newuser
sakshieducation.

newuser
www.sakshieducation.comwww.

newuser

newuser


www.sakshieducation.com

Paper Il Social Studies
Note: Highlighted Option in the box is the Correct Answer

41, LYol upnsd ugo. (00 uo FOoD K3
s wlie gesihod wY SOrPIIY 8
2o5%0 weurts, 300 T &y seshoo
200 e

(1) Sotssmss; Hpess, %

1 (2) oo, Sk, S

(3) &3, 1, o

(4) esTLED, O, PO

BEQP DB, DI DY TG e D
159 B HeloerEs? &4 TPEEE™ esamsy
daien
(1) Bosasipise, Bestse

(@) %y, S | '
(3) Tiite, wisgo
(4) BB, BodopLEe

B’ e ire ecpeo
(1) Deagst, oo, 500
(2) Hragsive, %o, Ipbo
(3) pesigstio, alogo, T30
(4) Deadise, moo, o,

W-61/TET-311-EM/TM

44.

47.

(11]

BOOKLET @

a5 S0’ o HAIEN3 @

ngi

(1) Do wod Fakrse

| (2) 3083 B, |

(3) BeEand® tody-
(4) OBV IR
LTV SEPFIE ST

(1) HEDE, SoliTits, DoTran

(2) oo, DERS, B0HE -

(3) exStHD, HEN3, soroLtiotd
(4) BosH, SeJEIN, E'E
IR0 ey Sess DEBD Y
(1) o + o000 |
(2) eah + %0050

(3) excd> + woclo

(4) esaifor + Soao

£505 S0OBID 2o T GoBY

P Ottt Cetl -

B ey, B, 0D WO’ T FERY
S efo

(1) &Sy

(2) 3%
(3) s
(4) ok

P.T.O.


newuser

newuser

newuser
sakshieducation.

newuser
sakshieducation.

newuser

newuser
www. comwww.

newuser


www.sakshieducation.com

Paper Il Social Studies
Note: Highlighted Option in the box is the Correct Answer

48, 3R omimess By A0 HES

(1) dzeerelp
(2) Sparos
(3) o

(4) @worrog ~

49,

61.

W-6U/TET-311-EM/TM

KoAn Botutoo BEsE EisaRies’,
S’ B+ (S DD B

(1) 505, %oy

(2) B0, 6

(3) oo, S v

(4) 5pQK, ¥

E5508° Bod acd Edio8t J¥o &ob.

$leost Hhon &0d. Fleos Fo &od. B4

T Sookol TEEM R0y,

(1) 52606° Flesos’ i sod. sDee
&leoo8® %o dod.

(2) Koed’, §eos’ ton, Mo ammon!

(3) DBes® Hrved’ Bod &ob.
leivod® o dod.

(4) 52808 w0, Mo Enow. Frod’
oD, o ETma.

(1) S0 TPl e G008,

(2) Sobden ko eﬁu;’)k‘.}obo&

(3) Byt pisso Bhowed
(4) oaes i 8o winEte T

52.

(12]

BOOKLET @

EHE" oI et doNssad

CLPEIHD? Bt TGOS SO0 G

EPreds g T

(1) 6%08® &1 srEIpsLs fodass
g Sodo

(2) &%08° 1 irapdd fossRdadie
Soto

(3) Shssansotso B4 “rEerdd Soxssd

igesy-

(4) %6 5 srpapntfasd etoscd

So0 708’ SEE Yo
(1) b33 oraraes toowndod

(2) crarasme O Lo

(3) b3 Tiaraes0 BROTEN

(4) orarasese THA o

S0 O &) TES

(1) % 5 gerosd wsfuves oomd

S 2:0R 803 XETedboled

(2) geroed esEhSHRTTIS T T B3
ESoT :0R KRG Redtoned 4

(3) Berosd esshisves OIS T el
2OR Stom X Tredbolol.

(4) gepoid esE5smes T TU) @BV Y
or 28 ErEmredbood



newuser

newuser
sakshieducation.

newuser

newuser
sakshieducation.

newuser

newuser
www. comwww.

newuser


55.

57.

W-61/TET-311-EM/TM

Ne@iEs  sostes® Aokl
TESEPOTER GO HOD oo

(1) 3% ehoste

(2) Dorgipe 037 SETRS B0t «

(3) Agryand esists 550 Kol Hasos
(4) Jorgioo ePrEsEse BT

OPITYY  BHey Do Wheowy

- S rggatintss i’ BesuShoelis eoto

(1) 5700  Sargraro Socd o
&owwstd

« Drgtoest

(2) EoEg $0Tre wepbomr
Erdebosimd

(3) BOEH ysas o3 SErre TP

(4) 5855, o> 03 5o elmd

BT pptoes

Dorolouad  adgEinGs &nét

BBl intstesd L

Sooad

(1) RGOS s sotitio |

(2) 7B Boreio 3030580

(3) PGy oo BEboute
(4) 3}5552?@2&; oo

58.

59,

BOOKLET @

BoKd  NoE oo Eeeipeme
BoPoBOENd ARt e’
2eSiBys LS esio

(1) Sz 3850 Saweste

(2) 585 Sopenss B0uce Soistis
(3) Jorein wrivem BRJoNES,
(4) oot sThem SBlcuts

25 BECANSY BITY, NS00 (5
T exaliso gooth Satned.

(1) pope S oo dorged
ST DoroRowse

(2) SFGEPRTHT SOV FRE SROCTRW

FEEPRR SN DIRFNoES

 (3) PRRAVTR SPPR T PROTOW

13)

Foontie
(4) PAPLD doDodottio T I
SO BERICTNS Bks +

DPRCEDY Y DTN SR CiNON

ool s0ugise

(1) grie R0 S0, SRsgisss Jsoh
Bosrbl sowelols a-go:s.;:sae;:so

(2) 57 SrBSEBow, AT $EB0
$8eivo

(3) P2 oy, PRsTs Sestoe $8ioe

(4) P2 Jonerdy, T BB

BT BAT, ToCUT LEOIEe B
S0

P.T.O.



newuser

newuser

newuser

newuser

newuser

newuser


www.sakshieducation.com

Paper Il Social Studies
Note: Highlighted Option in the box is the Correct Answer

PART-III
LANGUAGE II - ENGLISH
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W-61/TET-311-EM/TM

Choose the grammatically correct
sentence.

| (1) I'll see you next Friday. |
(2) I'll see you on the next Friday.
(3) I'll see you on next Friday..
(4) I'll see you the next Friday.

If it hadn’t been for your help, I
don’t know ....

Choose the correct answer.
(1) what I'd done»

(2) what I'd have been done
(3) what I'd have done
(4) what I'd had done

I wonder if we ......... the doctor to
look at Mary.
Choose the correct phrase to fill in
the blank.
(1) couldn’t ask_-
| (2) shouldn’t ask|
(3) hadn’t ask
(4) haven’t ask

You can only come in
minutes.

Choose the appropriate word to fill
in the blank.

(1) since

(2) within

(3) during,

He gave her many advices.
This sentence may be edited as
(1) He gave her many pieces of

advice.
| (2) He gave her much advice. |
(3) He offered her many advices.

(4) He gave her some advices,

66.

.| 87.

(14]

Identify the part of the sentence that
has an error.
A) It is not the urge
B) to take revenge that
C) terrifies Hamlet,
D) but the gravitation of this
nature,
(1) B)~
(2) C)
3) A)
‘Where ............ 7 “In a village near
Vijayawada’.
Fill in the blank, choosing the
correct answer.
(1) your uncle lives
| (2) does your uncle live -
(3) lives your uncle live
(4) do your uncle live

Oedipus, the King is the greatest of

all tragic characters.

Comparative degree of this sentence

is........ Oedipus, the King s ........

(1) a great tragic character.

(2) a greater tragic character.

(3) greater than any other tragic
character#

(4) the greater than some tragic

characters.

Of all the words given below, one is
given entry in the dictionaries.
Identify it.

|(1) lieutenant —l

(2) lieutinent

(3) leutenent

(4) leiutenant
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As artiste,
Dr. M. Balamuralikrishna made his
debut at the age of eight.

The underlined word implies ....

a performing

(1) the first performance before an
audience <

(2) acting in the musical plays
(3) entry in the primary class
(4) initiation into music

Kamala’s exhilarating performance
left the audience awestruck.

Here exhilarating means ...

(1) exhausting o

(2) exhaustive

(3) boring

(4) exciting

Inthe............. (regression) violence
of the epic, everyone is as wrathful
as Achilles.

Use the suitable form for the word
given in the brackets.

(1) regress

(2) reg’ressivefl

(3) regressed

(4) regressing

The sheer magic of the recital was

spellbinding!

The sentence indicates

(1) there was a magic show before
the recital,

(2) it was a boring recital

(3) it was a wonderful recital | _

(4) the recital lacked magnificence

74.

75.

76.

7.

[15]
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The party was excellent, and I'd like
to thank all
Choose the correct answer to
complete the sentence.

(1) concerned people”

(2) people with concern

(3) responsible people

|(4) people responsible |

Only one of the following sentences
is edited. Find the edited sentence.
(1) He peremptorily dismissal of all
allegation as the farcical
attempt to tarnish his integrity.

(2) He peremptorily dismissed all
allegations as a farcical attempt

to tarnish his integrity.

(3) He dismissed peremptorily all
allegations as farcical attempt
to tarnishing his integrity..”

(4) He dismissed peremptorily all of
allegation as the farcical
attempt to tarnish his integrity.

Identify the sentence in which

adverbs have been used in the

correct order.

(1) He sang wonderfully at the
theatre yesterday evening.

(2) He sang at the theatre
wonderfully yesterday evening.

(3) He came here today by train.

(4) He came here by train next
month.

A. Didn’t you go to the cinema
yesterday?
B.
Identify B’s response.
| (1) Yes,Ididn’t. |
(2) No, Ido.
(3) Yes, 1did.
(4) No,1did.

P.T.O.
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78. Smoking is ............ to anyone's
health.
Choose the correct word to fill in the
blank.

(1) detrimental
(2) deteriorating
(3) disillusionary
(4) injury -

79. Alexandrian libraries were gutted
down by the invading Huns.
Active voice of this sentence
will be .....
(1) The invading Huns had gutted
down the Alexandrian libraries.
(2) The invading Huns gutted down
the Alexandrian libraries.~”
(3) The invading Huns gutting
down the Alexandrian libraries.
(4) The invaded Huns gutting down
the Alexandrian libraries.

80 to 84 : Read the following passage
carefully and answer the questions
given below it.

When the motorcar was first
introduced, it was a clumsy, noisy
machine that labored along the street at
a pace no faster than that of a trotting
horse. People looked at it with suspicion
and fear. o

Since then, the motorcar has come
along way and is today a combination of
beauty, luxury and efficiency. The
modern automobile, sleek and
streamlined with its brilliant hues, is an
aesthetically appealing object, almost a
work of art. You can travel in it in
absolute comfort at an incredible speed,

W-61/TET-311-EM/TM
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and yet feel no fatigue at the end of day's
journey. The engine is a masterpiece of
mechanical ingenuity and seldom lets
you down if you maintain it well.

80. What was the motorcar like when
it was first introduced?
(1) an attractive, silent machine
| (2) an awkward, noisy machinel
(3) a big and unpleasagt-machine
(4) a small, useless machine

The speed of the first motorcar was
compared to a
| (1) limping horse— |

(2) horse moving quickly
(3) horse refusing to move
(4) sleeping horse

8.]..

82. The modern automobile is a
(1) beautiful object and a worlf art |
(2) noisy and ugly vehicle

(3) clumsy machine
(4) vehicle that breaks down very
often

The modern automobile is

(1) cheap and irrepairable

(2) shiny but rough

(3) uncomfortable and moves at a
low speed

(4) comfortable anqﬁtﬁes at a high
speed :

84. The engine is the best example of
man's........... P
| (1) inventivenes¢ |
(2) backwardness
(3) helplessness

(4) laziness

(16]
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Information transfer takes place in
<verne. divection(s).

(1) three

(2) four

(3) one

(4) two~

If a student's answer script is
evaluated by two examiners, they
must award nearly the same
number of marks. Then we can say
that the testis .........

(1) practical

(2) reliable 7|

(3) scorable
(4) valid

Substitution drill is a technique

usedin ........

(1) the grammar-translation
method¢

(2) the communicatioﬁ-language
teaching method

(3) the audio-lingual method

(4) the direct method

(17]
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Articulatory phonetics deals

(1) production of sounds

(2) distortion of sounds
(3) reception of sounds

(4) transmission of sounds

A 'Diphthong' could be described as
a combinationof ...........
(1) a consonant and a vowel

(2) two consonant clusters

(3) two pure vowel sounds

(4) two consonant sounds.~

Which is the first stage among the

following in planning a lesson?

(1) Presentation stage~|

(2) Feedback stage
(3) Performance stage

(4) Practice stage

P.T.O.
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91. The layer that reflects the radio | 93, The conventional sign 'R.H.' on a

given map denotesa...............
(1) rural habitation

(2) regional habitation

(1) exosphere ' (3) railway house

| (4) rest house |

waves béck to the surface of the

(2) troposphere

AN B JBss® ‘R.H.? w0
SSEBE Do BV BB weereerersens

(3) ionosphere

(4) stratosphere (1) o esmsian
(2) Prodo> esmmisinn
TEEre 6% H45 SERP stomesy’ -
oo (3) 5
05 (Bln Hr&n0Berdd Seddoeh (4) dred 1o
(1) wrmgstenan 94, Identify the countries which have a
(2) w ey coastal line in 'Africa’.
(1) Zambia, Mali
(3) = esstiessian (2) Zimbabwe, Chad
(4) @° esstensn | (3) Libya, Egypt, Morocco
_ (4) Niger, Uganda
92. 'Missiles' are manufacturedby ....... oS S SBRS Aess oo
(1) Nuclear Fuel Complex (1) srodair, S
(2) Bharat Dynamics Ltd. (2) gowidy, 5
: , [(3) Do, Busip, Awos. |
(3) Hindustan Aeronautics Ltd.  (4) B, &moce
(4) Bharat Heavy Plates and | 95. 'Cyclones' are known by this name
Vessels Ltd. in the Gulf of Mexico.
_ T (1) Willy-Willy
lm&%’ = wm :50% ssassunnnas (2) Cyclones
(1) 3ranb Honb ek, (3) Hurricanes
4) hoons
2 mg‘m%m:a&/ Typ
iy &35 23EY & oo s Mo
3) 2:’65:.3;5 bsﬁzﬁﬁ% d0.8E OIS oo
(4) 565D D35, wolb 33,6, d2006 D282 (@

(3) tnods ] @) By

W-61/TET-311-EM/TM (18]
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The cause for inclination of the

earth towards the eastis ...........

(1) due to the presence of oceans and
continents.

(2) the weight of 'ice’ in Antarctica
is more than the weight of
continents in the northern
hemisphere.

W-61/TET-311-EM/TM

L _equator

(3) it has a slight bulge at the

(4) the Greenwich Meridian divides
the earth into two halves.

Grme @y, ‘e’ LRty o 0

SoLPnE Ko T wevereneee

(1) posres, Saxgres &3 N

(2) &8y REos™ potre Y XY
o030 B0 1R VRO
sSe

Le8T i Bo 5 50 6B Gotiex)

(4) ASDS wgredssn PP Toke

aegep'ﬁ'm aiRonte

This will happen if the earth's
rotation is stopped .

(1) The earth loses magnetic force
at the poles and it is attracted
towards the sun. '

(2) The moon's revolution- will be
- stopped.
(3) The poles will change their
places. '
(4) The water bodies will go dry.
28 eboodooh

(1) 2o Lo 25 0B 08580 S6hons

Q0P D) 500000 ¥

(2) Hos $S0gRore eshFEcd
(3) GHTres T POPED LItHLoraR
(4) saores aneddforan

100. The

(19]
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98. Ravi was born on 29" February,

1964. The number of birthdays he
has celebrated upto the year
201118 cceveerennns

8D 1964 »End 29 ¥ apwrds. 2011

S5 0 D T e BtsRHBTHE
(1) 10 (2) 14
(3) 13

‘Kolkata' is located at 88° E

" longitude and Chennai at 70° E

longitude. The time difference
‘between these two cities s .....
[ (D) 1hour 12mins |

(2) 1 hour 16 mins

(3) 1 hour 04 mins

(4) 1 hour 08 mins

S’ 88° B SProops, TR’ 70° &u
Sroiop samown. B Doty VRCNed

(1) 1 5on 12 dn eor
(2) 1Ko 16 dnew
(3) 1 Kion 04 dn e
(4) 1%on08 dn e

temperature in
'Visakhapatnam' is 40°C. The
temperature on Mt. Everest at the
height of 8,848 mts will be ......

Dapisene’ & a2 40° Dol eosss
8,848 Son Ny ¥ORS DBy Bptio NS

S evveeee
(1) 12°C 2) -12°C /
(3) 15°C 4) -15°C
P.T.O.
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101. The Negroes of central and south
Africaareknownas.......
(1) Bantus
| (2) Bushmen |
(3) Pigmies
(4) Bedouins

0% W00ak &3 espos’ &g, Mifem

102. The flat lands which are 300mts
above the sea level are known as ....
(1) plains
(2) low lands
| (3) high lands |
(4) valleys

S0 Beo 200l 300 Don JBIOR S

103. 'Anemos' means..............
(1) water (2) birds
(3) animals (4) wind
IS’ e
(1) o
(3) mowmspen

(2) Sgpen

W-61/TET-311-EM/TM
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104. The Panama canal connects these

two water bodies

(1) The Pacific and the Atlantic
oceans

(2) The Atlantic ocean and the
Mediterranean sea

(3) The Indian and the Atlantic
oceans

(4) The Indian and the Pacific
oceans

WIRr Sheo’ S 30D mogrmono

Soopocd

(1) 2508 5o0aw eePoils BussaEres

(2) eepoudS BoFFHIMEEL Ho0AYD,

o s

(3) Sotir o0atiao exgroudS snshistnres

(4) ol wdain $1HE BrtsaEees

105. The world famous Niagara falls are
located between these two lakes.
(1) Michigan and Superior

2
(3) Erie and Ontario

(4) Huran and Michigan
IOV HOIPNTY moDrbe Tt Tetd
BEIRo WEERD

(1) oS 580w 080%E

(2) 13050015 nodai

(3) &8 wdaix Lowrdar
(4) RTS 0GR WIS

106. One of the following desertsis not a
hot desert.

(2) Kalahari

(3) Atacama (4) Sahara
B¢ (300 36" (43 M0’ TRO

(2) S50
(3) esewinr (4) s

[20]
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107. The Chalukya king who defeated | 109. The capital of British India was
shifted from Calcutta to Delhi at the
end of this movement.

the Rashtrakutas and occupied

Malkhed was ...........o. (1) Civil disobedience movement
6} Tailapa-III (2) Home rule movement

(3) Salt satyagraha movement

2) So -1
(2) Someswara - IV | (4) Vandemataram movement |

3) Tailapa-I I : .@h&;ﬁ. qo&oﬁ:‘ ma ‘5&}".»@'1336& ‘¢§’§
(4) Tailapa-II L B atgoo Dot urdse

, (1) wseassTigno
TR P00 AN OGRS SRSy (2) 555 sb ssgioo

PRET (3) &y Sorgle abgae

(1) 2005 Boptsd> ' [(4) 500 arBto Gpeo |

@ - 110. Santals were the tribal people of
) e : . these states.

(3) B0 PRt (1) Orissa and Andhra Pradesh

(2) Karnataka and Maharashtra
[(3) Bengal and Bihar |
(4) Maharashtra and Madhya

| (4) Botss Popter” |

108. Azad Hind Fauz was formed during

Pradesh
this period. o’ Ti TIRES DOL DI
(1) First war of independence (1) 202 wo0ai SOGHEE

(2) 3o7sE EsBoin BSTR
[ (3) Bome totco Biskt - |

(2) Noncooperation movement

| (4) World war-I1 | 111. English was introduced in India by
this Governor General. -
b 2008 2 4 37008" ot (1) Cornwallis
(1) Ruotsed oy Sorre (2) Warren Hastings
: (3) Wellesley
(2) istat Do oo [ (4) William Bentinck|
(3) Dastse? (0% CHETw0 I B R B
o
(4) Totsd Bdew om:.wo/ ey
& 1) sHme5  (2) 5 ek
- (3) e [(4) 2Baso Bodel 1|

W-61/TET-311-EM/TM [21] ' P.T.O.
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112. The King who started the Saka era

(1) Srimukha Satakarni

(2) Harshavardhana

(3) Ashoka
(4) Kanishka
Y o’ %
(1) @roop s
(2) st
(3) esthoe

113. The 'Satavahana empire' was
dividedinto ...............
(1) Nadulu
(2) Valanadulu
(3) Viharas
(4) Aharas
FOTS M’ e (300 Jonr

-------------

(1) et
(2) Somrtoen
(3) Jsstorew

(4) esiFboree

114. 'Alberuni' was the court scholar of
this king.
(1) Mohammed-Bin-Tughlak
(2) Ala-ud-din Khilji
(3) Ghori Mohammed
| (4) Gajini Mohammed |
‘ob-Der DO e Sodtots
(1) wosrins-08-eons
(2) ozr-&559
(3) PO CNat)
(4) om0 oSy’

W-61/TET-311-EM/TM
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115. The names of the Satavahana kings
are given below :
A. Pulomavi
B. Srimukha Satakarni
C. Yagnasri Satakarni
D. Hala
Identify the correct option which has
the chronological order of the
Satavahana dynasty.
TEPIVS e S8 T4 (3085 Dotbediod
A: oS '

. B. SRap 859
C. a%z® 7050 ~
D. oot .
POTID  JEFeea0l),
TN, foGotiod
(1) B,C,A,D
(2) C,B,D,A
.(3H)ABCD |
) B,A, D,/

SO

116. 'Kusi Nagara' was the death place
of this person.
(1) Guru Nanak
(2) Ashoka, the Great

(3) Buddha

(4) Vardhamana Mahavira
Tty ta L = :’833 FeClat o St oo
(1) Hots o€

(2) et

(4) L0 ettt

(22]
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117. The Pandyas ruled from this place.
(1) Devagiri
(2). Malkhed
(4) Dwara Samudra
Srotises T4 (oo ol SOPDoTL
(1) 3shd
(2) 5736
(4) oo SaEe

118. The Mughal emperor who gave
permission to the English to trade
with India was .......
(2) Shahjahan
(3) Aurangzeb
(4) Akbar
B4 Do B0 oy 08 rowdiost
SNO RENPHETIoE SRS BooET
IS~ CR—

(1) emofits ' (2) Jpedan
(3) Duoizen (4) eHto
119. 'Ibadat Khana' which was

constructed by 'Akbar' wasa ..........
(1) court hall
(2) auditorium
(3) prayer hall
(4) meeting hall
oRte? D DOERED GEPED T D ...
(1) Bgrcdbdn

(2) es&S*Baio

(3) (e 00D
(@) SarvEacolthan

W-61/TET-311-EM/TM
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120. The woman who resisted the
Moghuls at Ahmednagar was .......
(1) Rani Rudrama
(2) Jhansi Laxmi Bai
[ (3) Chand Bibi |
(4) Zizia Bai

essm S 1510 35 Dooleowits DesHded 3
(1) o6 LS

(2) sardy oo

(3) bbb,

(4) 225 oy

121. He was a non-Mughal ruler.
(1) Akbar
(2) Babar
(3) Humayun
(4) Shershah

508 e S
(1) eofyto

(2) et

(3) TuEICLIS

(4) 38>+

122. This Sultan was against the
superiority of the 'Khalifa'.

(1) Mohammed-Bin-Tughlak

(2) Mubarak Khilji
(3) Balban

(4) Ala-ud-din Khilji

Do esps, 503000 Bogrw
(1) 5ots5-D5-sarE
(2) w0erss O

(3) EJ'E)r}Sr
(4) ee-a85-98

P.T.O.
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123. The main objective of the political | 125. L.I.C. was nationalized by this

arties is .... . -
P Prime Minister.

(1) to criticize the ruling party

- (1) Rajiv Gandhi
(2) to create political awareness

(2) Lal Bahadur Shastri.

among the people

(3) to increase the strength of their (3) Jawaharlal Nehru
party (4) Indira Gandhi
(4) to mobilize financial resources
for their party 2ED% P HoPhse @datioe W HE
O dots PP G, BEPSOF 50 worseesereens ooy
(1) efzs 380 Dsdouko (1) oESmed
(2) Seos’ oriah Poar) ¥Actte . (@) @b uisirbaty
(3) =0 P w28%Ss0 Datbie 3 =
(4) 0 P3 sPHRLY WY BB | @ Y 'l
ssominEhoEe (4) gobo ™ol

124. A man on a motor vehiclereached a | 126. 'Widow marriages' are the

junction and there are two roads in contribution of this person.

front of him in a 'V' shape. This
| (1) Kandukuri Veeresalingam

junctioniscalleda ............
(1) 'Forearm' junction (2) Tanguturi Prakasam
(2) trafficisland. (3) Vivekananda

(3) 'T" junction

(4) Dayananda Saraswathi
|(4) Y junctionl '

‘B0 10! [EFOpTNOND &
L B3 Depts THNSCD wf redd SeRe ach
DTN, 0 DT Tos LTvTriden (1) Sotoxro Sadere |
V2 emiod’ &g, B4 SPEDD &4 dgore (2) wolear (F3¥e
RIS o (3) Dimett

(1) HcBo 5rid
(2) 7k worck
(3) ‘T 5»&B
(4) Y 53ED

(4) Sorsed HES

W-61/TET-311-EM/TM (24]
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127. This is not a 'social welfare scheme’.
(1) Apadbandhu
(2) Annapurna

(3) Food for work

(4) Deepam

20 S0k HoFss BEYo TN
(1) esdthegn

(2) WY

(3) 323 enTEIEN0

128. The central government is ruled in

his name.

(1) Parliament
(2) Judiciary

(3) Prime Minister

(4) President

fos Egoly $0Fed DO D Do

et Clrticlal
1) bg‘imﬁ (2) =
(3) S0 Sol® (4) ogea

129. The reason for India being called a
federation and unitary stateis .......
(1) One single citizenship and
supremacy of the Center over

the states
(2) A written constitution and
establishment of an independent

Supreme Court

W-61/TET-311-EM/TM
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(3) Distribution of powers between
the Center and the State and the
establishment of the Supreme

Court in the Center

(4) Residuary powers in the Center

and a written Constitution

i o w¥ SErP woaks DY So

a0’ @) BendetiarRs o Strres

(1) o3 DE30e Bro 0o, TROR
Bl & eQTTen B BAEo

(2) 0P TremgEro, JHOBRIIY SORS
@RI TR DT DAL

(3) o5, TEDT D Kokl T Sebed
00w Soed® Mol BISY &
SR TR0 PRy DT B0

(4) Boord RRTT oo, DD
oreeor) SOA G0t

130. The system proposed by Balwanth
Rai Mehta committee was the .......
(1) four tier system
(2) five tier system
(3) two tier system

| (4) three tier system |
20505 TS BRPTP KD B ISR
VPP DD serseesaseses
(1) renlicde PR
(2) 8008 EFso
(3) Totiodw dgro
(4) Srtiode S ?
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Paper Il Social Studies
Note: Highlighted Option in the box is the Correct Answer

given in view of "access to finance".
Partnerships, companies, single
proprietorships and corporations.
Identify the first priority among them.,
(1) Corporations

(2) Single‘ propriétorship

(3) Companies

(4) Partnerships

% opp epmam £ segen
amabma&m.a-nagnasanu:,mw,
DoireaIEI, NGNS, He36° Dot
Do Kigoisod

(1) sevsm

(2) 2

(3) sonden

(4) Firgogoes

W-61/TET-311-EM/TM [26]
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132, The formula to find out the literacy

rateis......
(1) Total no. of literates
Total population above
7 years of age

(2) Total no. of literates
Total population below
" 6 years of age

(3) Total no. of illiterates
Total population above
7 years of age

x 100

x 100 |

x 100

(4) Totalno. of literates  , 100

Total population above
__6 years of age

OIS Beoo BoRoests PR

(1) Boogo e Somy
T Sones SoKssy Pedsd
[0%o BT
(2) o LT Sopy
6 Sone &%y oz
SRS 23 Qoo
(3) oo Digorsoge 0w
7 Sone Dok B 2A%
o ETr

x 100

x 100

x 100

(4) Roolo eFovR Sogpg
Géollaboﬁa:&gaém&b
WHo e,

x 100
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Note: Highlighted Option in the box is the Correct Answer

The cutofflevel of annual income for

poverty line is Rs. 18,000 p.a.

Rajayya's income is Rs. 21,000 p.a.
Choose the correct statement of
interpretation.

(1) He has an income of the middle

class.

(2) Heisjust above the poverty line

134.

(3) Rajayya is the richest person.
(4) He isjust a rich person.

m&@sﬁwgo HON® Deonorwd 18,000

GRIC. Caollyy  BoRETERe0e

557, 21,000, 58335 Disvesias logetved.

(1) oraaly esoraloe BoG HURSO
[Zlalowt.)

(2) orea; Oy Spts LD STNE,

(3) Trezoily L20BET FHOBOES

(4) Trecig ERsbhoBu

'Gold'is ..........

(1) both a private and free good

(2) both a consumer and public good

(8) both a capital and economic good

(4) both a capital and perishable
good '

10T’ eSS0

(1) 90asSeS B0 GAB XY

(2) DREK B8k $OE WY

(3) Saredo w0 agz:s:a_::@-

W-6LU/TET-311-EM/TM
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135. A person has two options of reaching
a place, by 'train' and by 'air’. He
opted to go by air. The 'want' as
fulfilled by him has this
characteristic feature.

(1) Wants are recurring

| (2) Wants are competitive |

(3) Wants are unlimited
(4) Wants are substitutive

2% %3 1 $e03 Btowld Dev, LARO &
Tots> SREERIHD. BB B0 SATerlS
DDy Sesoked, B dobs 585
Glaok, Tr OFERR SDA Skaosd Dt
(1) SPoNen ot Hobor Hsaran

[(2) Soses wE5oad .58 K stora., |
(3) S*omen wdORBRD

(4) Soses porgamoire

136. This is not the objective of social
" forestry.

| (1) For scenic beauty |

(2) To produce raw material for
paper

(3) To supply firewood to rural
people '

(4) To supply firewood to urban poor

| 30 FREE YL OF (@O
| (1) ool e S |
(2) SABY BordE M Wl &6y®
Baiso
(3) raor Pk HowDSENS JEHOr
Sobte
(4) g3 St Wows TARSL SES0 Do
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137. Industrial structure in Andhra Pradesh in percentage
3ol WOk POFR0S SR (?"tocﬁ‘ )

Sr. No. | Name of the industries group Employment Fixed capital
& Sopg| soEme sauTaie St a&ho 2 Samesso
' ' 1960 | 1990 | 1960 1990

1. Agro based industries

SEAPOGTOB $OEEL

2. | Non agro based industries

SEPOIIGREB SO 16 45 43 82

100 100 100 100

84 55 57 18

The structural changes as shown in the table reveal.............
| (1) that economic development took place. |

(2) an improvement in the tertiary sector

(3) that consumers are less interested in agro products

(4) that fertility of land is decreased

$e356° miseadin MTmETBX ::J‘dqjeu B4 DUy DDA :S:g::;oaa
|T13 espTPB Feso Bisotoo e

(2) Bybos Solod® i

(3) HEOPTEPOB S0 e DI TSR ATHED

(4) 4irnt0 B0 '

138. 'Kamala' bought one dozen Simla appies last week at a price of
Rs. 200/-. She bought two dezen this week for Rs. 550/-.
This transaction .......
(1) follows the law of supply
(2) is against the law of supply

(3) follows the law of demand
(4) is against the law of demand

ED007 L8 Seiio BEP AL 350 TR B 200/- o S0, «d Sk airby Tots

30 Te 0 . 550/- 050 S0, B+ TR0 B4 BRBR0m eRs0oD 90

(1) SHSoe (e wasslon &

(2) $EHO° SPEPAS HECBOT &0

(3) ool ariEed, eanstol &90

(4) &5ok BP0 BO0EETR SR
W-61/TET-311-EM/TM (28]
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o Paper Il Social Studies
Note: Highlighted Option in the box is the Correct Answer

139. "Proceeding from simple to complex”

(2) strategy
(4) device

(1) maxim

(3) technique
TR 300 DO Dy’ SiHD w8

@ oy
(3) ool (4) a0

"Listening to others with due respect

and attention" relates to this

140.

instructional objective.
(1) Knowledge
(2) Skill

(4) Understanding

_ BB B0 1503 L0 5B Do’ ool

B B o ga0ioE> Sowepodvd
(1) g (2) Poee
(3) 290, (4) essmims
141. Thisisan iristructional material for

a teacher.
(1) Workbooks

| (2) Supplementa.ry material |
(3) Atlas

(4) Curriculum guides

B S FEPR adoreinon
Sorcholsd :
(1) sBy e

(2) esdoeaody FEB

W-61/TET-311-EM/TM
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142. To increase children's interest and
readability, cartoons are used in this
graph.

(1) Line graph
(2) Bar graph
| (3) Pictorial graph |

(4) Flannel graph
DEPgtizes’ iy, SEPRREREN
DoroBowons TE TUPFEL T [MHRS
SSEIPACHOU
(1) dgrore 9
(2) =6 o

|

4) FE e
148. In a group-directed instructional

strategy, many speakers present
their views and experiences on an
important topic. This is called as ....
(1) socialized recitation
(2) debate
|(3) swnposium|

(4) panel discussion

B 2303 906 S o’ L e
050 V00 $§00 TO eHEPAHNS
$00H0 RGPS Bl HIRD. TV B+
gere ST

(1) Srois &oito
(2) sewets (Gzhd)
(3) oo

(4) Fb g,
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Note: Highlighted Option in the box is the Correct Answer

Ability to work with a group and
to seek cooperation from other
members is related to this type of
skill.

- [(0) Social skill |

145.

(2) Intellectu_al skill
(3) Communicative skill
(4) Critical thinking skill

ey S8 350 Sotix MsotiFin woake
FBO BEHE ST SoS s B4 B

SRERD SowePolHd

(1) Fcho8 Jpeso,

(2) TOEIpme

(3) 275 3d8tespero
(4) 230 855 RYeag0

Identify the true statement.

(1) Problem-solving involves a
mental activity only.

(2) Problem-solving involves a
physical activity only.

(3) Problem-solving involves more
mental activity and less physical
activity. '

(4) Problem-solving involves less

-mental activity and more
physical activity. ‘

SO TPESW oed

(1) 353500y 350,550 IV 150 5B

W-61/TET-311-EM/TM

(2) S50 50t 708 W LR

() 5:803% 3502, B850 D WS e

So0ain B8 POUY o ¥rd
&oooh)

(4) 50030 S0, BR0 BEH BTN W
200 oy O BB wrd
Gowol

146.

BOOKLET 9

"Radio, cartoon, dramatics are non-

projected aids".

Identify the pedagogical term that

is a substitute for the above

mentioned aids.

(1) Graphic aid, audio aid, activity
aid /

(2) Activity aid, audio aid, graphic
aid '

(3) Activity aid, graphic aid, audio
aid

(4) Audio aid, graphic aid, activity
aid

BaR, TP, Pt Gsd

38030 (non-projected)

SSssteane H:33 Ko $0aD

DTPGOTN D ik

(1) @5 anstrso, Mo GEsUrso, $idy
&s5e30

(2) Hoy asstrse, fHors &istbro, HE
€550r0

(3) HBg e8be0, [Mes CNese, @
[l e’ T

(4) [E503 &8558m0, [l &HSSee, ity
GOS0 -

147,

[30]

"A student predicts the temperature
of the forthcoming day based on the
past three days' report".
This competency is based on the
realization of this objective.
(1) Understanding
[(2) Application |
(3) Interest
(4) Knowledge
0 g 1 o Beve B0 esgriiom |
Tl e & v Semolilicon”

W oo U1 of X SowseDe s
(1) wbms (2) Loddrhe

(3) el (4) w0
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Note: Highlighted Option in the box is the Correct Answer

148. Note taking is one of the methods

of teaching social studies. It is based

on this assumption.

(1) They provide a permanent
record and afford easy reference.

(2) Notes help to score more marks.

(3) Reading material from
textbooks is tough and beyond
.the comprehension of average

students. -
(4) The syllabus in the subject 1s |
overloaded.
ks g B98" Feoy Eraxow> 9658
oo, 6
(1) 30 5B o, Doogomr ?pb
FoK00% eI Good

(2) Ty Dy JPBL0 HOFBOUHRID
&gt

(8) JuposEEeR0d DHAK) WSS

SRS B2 HI0as 30 B IO

GVITLTVD TRV Doold
(4). Frchoy 3 Dowd LB gPBoT God

Brainstorming means

(1) No more ideas are generated,
the brain isin a confused state

(2) Itis a technique used in clinical
psychology

(3) It is a technique very widely
used in teaching social studies

..........

(4) It stimulates us to create ideas
but does not bother whether the
ideas are purposeful and

|_meaningful

Bog%sogise (Brainstorming ) e
(1) st 3efig0s’ dod, Juvond
esBhasen [t

BOOKLET @

(2) 30 308 prfas i
(3) 30 SowsTges” T oI
ERGRow e

(4) 30 L& TR0 GBSS DO, 5
23 e8I LUICBRSIT,

ORISR oS

150.

[31]

The steps of the problem method are
jumbled here :

A. Drawing preliminary

conclusions
Discovering specific problem
Exploring the problem

Collecting information.

B o QW

Considering summarization for
further study

F.
Choose the correct order of the steps.

15500 300 B0 Widaes T 3o
DoV
. S5 (RSN Y0 ot
B Sacsgao Koo
SEI5ES ipaeIe
SEPTE0R S300m
FrYatnte) e@aﬁmbé BAS D
Selsmes Botie
F. DEoichneso Srar ot Do
B4 Brre SO FHoH
(1) D,C,B,AE,F
| @ C,B,D,A,F,E
(3) B,D,C,A,F,E
4) C,D,B,F,AE

Evaluating findings

b

o aw
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